A AYSX ouUT IN GROSS  HDCP NET

= BB kb =R 38| 38 16/ 10.0 66.0
B BRI B 4041 81 120 69.0
3 EplS & 000 3840 | /8 9.0[ 69.0
AL ARR HBER 203 719 9.0 700
56 BJII FHIr 413 80 9.0 71.0
6f ZFEIL —E 37| 35 720 1.0 71.0
I |7eH 28k 39| 40 791 8.0 71.0
8 TE F— 4338 | 81 9.0/ 72.0
L =EH X a4 81 9.0/ 72.0
1062 % & 39431 82 10.0/ 72.0
16 =& FE 43140 83 10.0 73.0
125 |W]R E= | 42] 40 82 9.0 /3.0
13 #fZE #o— 14342 | 85 12.0 73.0
144 A0 H2Z 45 44 | 89 16.0 73.0
156 $h=E &= 41 41 82 9.0 /3.0




AHI% BYSR ouT IN GROSS  HDCP NET

1% s [/MRF #BIT 5351 104 35.0 69.0
il #HE A 46 47 93] 22.00 71.0
3L HE IEE 43143 | 36 14.0 72.0
A FhE AL 4146/ | 870 15.0 72.0
ofii [PHE 1E 45 52 97 25.0 72.0
o Al X 44, 45 89 16.0 /3.0
5. F% BES 5346 99 25.0 74.0
8L =B FIC 46| 42 38 14.0 /4.0
9 |XH _ F04H 45/ 44 | 89 15.0 74.0
10 B8 F= 48 48/ | 96/ 22.0 74.0
17 R =& 40 53 93 19.0 74.0
1260 s FA 56/ 460 102 27.00 75.0
136 | B A 48 43 91 16.0 75.0
1446 (%2 Ml 4850 98 23.0 75.0
196 ME ZF— 53047 100] 24.0 76.0




A% LFTas—2R oUT  IN GROSS  HDCP NET

B B =i TRF 4143 84 20.0 64.0
g R =AF 3840 | 78/ 7.0 71.0
M |FEEH REF 51155, |1060 35.0 /1.0
4y HFZT B 43 40 83 10.0 73.0
ofi e —X 52/ 51 (103] 30.0/ 73.0
6fi HIE $B-F 42| 44 86/ 13.0/ 73.0
L 3= F 7 43 37 80 6.0 74.0
8 Tha #4137 78 4.0 74.0
Ol X =HY 48 41 | 89 14.0 75.0
106 A" K BE 45390 | 84/ 9.0 75.0
11 A& BEiF 4549 94 19.0 75.0
1260 | Bl EBE-F 44 43 87 11.0/ 76.0
1362 A =F 43] 43 86 10.0 76.0
14 278 =13 40 41 811 5.0 76.0
19 [ &§F J= 47 40 87 10.0 77.0




